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WEJERR-1

b/~ AR i AR R & A I >

(ZEsas | EERI R /100 V|
AR (VA)
4y B AR | B | e ENrER 2 A vty FCU, FAN Z Dk g e il 7N 2
No.| (Wl cB P AR /AT[ R T R T R T R T R T R T
225/ r r r r 4 4 v
L-N1 L1 200[MCB 3P 150[ 3,678 3,678 5,345 5,810 693 693 2, 000 2,000] 23,897
225/ r r r r r 4 r 4
L-N2 L2 200[MCB_3P 125( 2,709 2,709 4,045 4,295 882 882 2,000 2,000] 19,522
225/
L-N3 L3 200[MCB 3P 150[ 2,827 2,827] 4.895| [ 5.245[ 1,031] [ 1,031 [ 2,000 [ 2,000 21,856
225/ r r r r 4 r 4
L-N4 L4 | 200[MCB 3P 100[ 1,950 1,950 2,495 2.145[ 635 635 2,000 2,000] 13,810
225/ r r r r r 4 r v
L-S1 L5 200[MCB_3P 150[ 3,659 3,659 7,795 4,270[ 304 304 2,000 2,000] 23,991
225/ r r r r r 4 r 4
L-S2 L6 200[MCB 3P 125[ 3,500 3,500 4,550 1,330[ 382 382 2, 000 2,000] 20, 644
225/ F | 4 r F F 4 |4 4
L-S3 L7 200[MCB_3P 125[ 3,914 3,914 4,150 3,730[ 187 187 2,000 2,000] 20,082
50/
L-N1-1 200[MCB_3P 50 [ 1,600 [ 1,200 [ 1,000 [ 1,000] 4,800
50/
L-N4-1 200[MCB_3P 50 [ 1,400 [ 1,500 [ 1,000 [ 1,000 4,900
50/
L-N4-2 200[MCB_3P 50 [ 1,600 [ 1,400 [ 1,000 [ 1,000/ 5,000
R 22, 237 37,875 4,114 0 0 17, 000 81, 226
0 0 0 0 0 0 0| AfiEE
T 22, 237 33,925 4,114 0 0 17.000] 77,276 VA
A 1 3 44, 474 71, 800 8,228 0 0 34, 000 158, 502
0 0 THEAN T AT
TR 0.85 0.27 0.83 1. 00 1. 00 1.00 ARk (va) At (VA)
(T & Te)
ik 37,803 19, 386 6,829 0 0 34, 000 98,018
TRZ&&[ 100 KVA
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WEERR- 2

(Bt FREaTE |
A/ A i 5% T & B L E ) e BT R (R R T

D sl mEer 1M1 R 13V 200/ 100V |
Sz (VA)
B | [ 4y MR R 1ty FCU, FAN Z O fih b s & id A/ Ciki=E EER
NO.| (W] CB P _AF /AT| R S T R S T R S T R S T R S T R S T ity
1| 200|MCB 3P | 50/ 20 448 448 896 |k MM AR, % H HI-b, BE-L
2| 200|MCB 3P | 50/ 20 521 521 1. 042|7 v v— s 750
3] 200|MCB 3P | 50/ 20 655 655 1, 310|515, [ T Wefif =, Moo ie ik =
4] 200|MCB 3P | 50/ 20 658 658 1, 316|577 (), (2), Ak (N2)
[ 5| 200[ELB 3P | 50/ 20 240 240 480 |WC (), BEBE F A GO, 5 5 i A
6] 200[ELB 3P | 50/ 20 266 266 532[WC (78) , BEEE T £ (76) , £ (N1
[ 7] 200|MCB 3P | 50/ 20 453 453 906 JE T, 388 A 535 2 3
8| 200|MCB 3P | 50/ 20 189 189 378|BE By (AbvH)
9] 200[MCB 3P | 50/ 20 147 147 294 |PE B (b H0)
10| 200[ELB 3P | 50/ 20 101 101 202|4FBELT
11| 100|MCB 2P | 50/ 20 1, 000 1, 000 |37 A 53 =
12| 100|MCB 2P | 50/ 20 800 800[ 7 L A L — 1
13| 100|MCB 2P | 50/ 20 400 400(2 H =4, BLE2N-4
14| 100|MCB 2P | 50/ 20 900 900 |5 i s =5, - =D
15| 100|MCB 2P | 50/ 20 300 300 (52) , i e, WBE T e G
16| 100[MCB 2P | 50/ 20 400 400 | Hh dale e 155 5
17| 100[MCB 2P | 50/ 20 600 600| ikttt #2777 (1), (2)
18| 100[MCB 2P | 50/ 20 200 200 & B T A i (75) , A (N1)
19/ 100|ELB 2P | 50/ 20 640 640|WC (32)
20| 100|ELB 2P | 50/ 20 1,280 1, 280|WC (31)
21| 100|ELB 2P | 50/ 20 260 260|WC (32)
22| 100|ELB 2P | 50/ 20 435 435|% H fWC (37)
23| 100|ELB 2P | 50/ 20 1,280 1, 280|WC (#4)
24| 100|ELB 2P | 50/ 20 960 960[WC (74)
25| 100|ELB 2P | 50/ 20 265 265[WC (74)
26| 100|ELB 2P | 50/ 20 335 335[% HHYWC (#4)
27| 100|MCB 2P | 50/ 20 500 500 I T, sk es
28| 100|MCB 2P | 50/ 20 200 200[EPS _(HUBJH )
29| 100|MCB 2P | 50/ 20 100 100[EV
30[ 100[ELB 2P | 50/ 20 300 300|445
31| 200|MCB 3P | 50/ 20 363 363 726 |, % R, BE-D, 7 VA
[ 32| 200lMcB 3P | 50/ 20 330 330 660k iEEEsE, R =0, NLE
[ 33 100lMcB 2P | 50/ 20 1, 000 1,000
[ 34] 100|McB 2P | 50/ 20 1,000{ 1,000
35| 100|MCB 2P | 50/ 20 1, 000 1,000
36| 100|MCB 2P | 50/ 20 1,000{ 1,000
AR R 3,678 5,345 693 2, 000 11, T16|F i K £ B
R g B g (VA)
(VA) T 3, 678 5,810 693 2,000] 12,181 12, 181
A g/ EE(VA) 7356 11155 1386 4000 23, 897
TR . 00 . 00 . 00 . 00 . 00 . 00 EeE
& AR R 3,678 5, 345 693 2, 000 11,716 BRAM| EEARHA
AEFF S (VA)
(VA) T 3, 678 5,810 693 2,000] 12,181 12, 181
A B A (VA) 7356 11155 1386 4000 23, 897
X REMI A B O 12, 181 = 100 = 121.8 A < g 150 AT 0K
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WEERR -3

[0y = > o | i i

Al A it e Sl TR 2 A 1 F R B (R A i )

[ 4 o] e 1-N2 e 163W 200/ 100 V|
B (VA)
[E 3 | EE Syt HE DT RG] vty FCU, FAN Z DB 25 i /gt fit F 3 R4 L
No.| (W] CB P AF /AT| R S T R S T R S T R S T S R S T ik
1| 200|MCB 3P | 50/ 20 424 424 848 |rersciry )1, ik, = HoKE
2| 200[MCB 3P | 50/ 20 543 543 1, 086[# ¥ 2@, @), Wil HEG
3] 200[MCB 3P | 50/ 20 511 511 1, 022| il HEG, Y / — A)L— A
4| 200[MCB 3P | 50/ 20 616 616 1,232(% HEgL— &, #ibf ==
5| 200[ELB 3P | 50/ 20 182 182 364|WC, % H HWC
6] 200[MCB 3P | 50/ 20 433 433 866/ T
7| 100|MCB 2P | 50/ 20 400 00| BENHE 7 Y —/)L— A
8| 100[MCB 2P | 50/ 20 400 400\ kRS, = 2 ADHE
9] 100|MCB 2P | 50/ 20 500 500[H =@
10| 100|MCB 2P | 50/ 20 500 500[H =)
11| 100|MCB 2P | 50/ 20 600 600 |5 i H = B
12| 100|MCB 2P | 50/ 20 600 600 |5 i #=E 6
13| 100|MCB 2P | 50/ 20 500 500| Y ¥ — ZL— 4
14| 100|MCB 2P | 50/ 20 1,300 1,300{% H gL — 2
15| 100|ELB 2P | 50/ 20 1,280 1, 280[WC
16| 100|ELB 2P | 50/ 20 960 960|WC
[ 17| 100[ELB 2P | 50/ 20 265 265|WC
18| 100|ELB 2P | 50/ 20 335 335|% HH9WC
19| 100|MCB 2P | 50/ 20 500 500/ T, b =
20| 100|MCB 2P | 50/ 20 200 200[EPS (HUBJH£)
21| 200|MCB 3P | 50/ 20 292 292 584 | %487 )b, IR, = = AOHE
22| 200|MCB 3P | 50/ 20 292 292 584| 2 HED, B, WiHHAED
23| 200|MCB 3P | 50/ 20 298 298 596 HHAEOG, U V) — A — A
24| 100|MCB 2P | 50/ 20 1,000{ 1,000
25| 100|MCB 2P | 50/ 20 1, 000 1,000
26| 100|MCB 2P | 50/ 20 1,000{ 1,000
27| 100|MCB 2P | 50/ 20 1, 000 1,000
% R 2,709 4,045 882 2, 000 9, 636 kA fix K ARG
B S A fif (VA) (VA)
2, 709 4, 295 882 2,000] 9,886 9, 886 19, 522
5418 8340 1764 4000 19, 522
. 00 . 00 . 00 . 00 . 00 . 00 T EH
%48 R 2,709 4,045 882 2, 000 9,636 KAM|  FWEAMAE R
BHEG S (VA) (VA)
(VA) T 2, 709 4, 295 882 2,000] 9,886 9, 886 19, 522
AR (VA) 5418 8340 1764 4000 19, 522
X ORI O 9,886 + 100 = 98.9 A < i 125 AT 0K
LONERERRTEERE BEARHE H| D-11
I




WEJERR-4

(Bt FREaTR |
A/ A i 5% T 2 B I E ) e BT (AR T

sl Eee  1-N3 R 13V 200 / 100V |
Sz (VA)
B [ 4y N R 1k FCU, FAN Z O fih b s & id A/ k=2 R
NO.| (V)| CB P _AF /AT| R S T R S T R S T R S T R S T R S T ity
1| 200|MCB 3P | 50/ 20 574 574 1, 148|%H=®, D
2| 200|MCB 3P | 50/ 20 511 511 1, 022 H E®), > N
3] 200|MCB 3P | 50/ 20 511 511 1,022 WA ED, B
4| 200[MCB 3P | 50/ 20 616 616 1,232|% HHYV— A, B =
[ 5| 200|ELB 3P | 50/ 20 182 182 364|WC
6] 200|MCB 3P | 50/ 20 433 433 866 JiE T
[ 7] 100|MCB 2P | 50/ 20 1,000 1, 000|234 = ®
8| 100|MCB 2P | 50/ 20 1,000 1, 000|234 =@
9] 100|MCB 2P | 50/ 20 500 500|22 B E®
10| 100|MCB 2P | 50/ 20 500 5000 AN #HE
11] 100|MCB 2P | 50/ 20 600 600 18 # = @
12| 100|MCB 2P | 50/ 20 600 6004 i =0
13| 100|MCB 2P | 50/ 20 1,300 1,300{% HifgL — 2
14| 100|ELB 2P | 50/ 20 1,280 1, 280[WC
15| 100|ELB 2P | 50/ 20 960 960|WC
16/ 100|ELB 2P | 50/ 20 265 265|WC
17| 100|ELB 2P | 50/ 20 335 335|% H e
18| 100|MCB 2P | 50/ 20 1, 600 1, 600[ b4 =&, JiE T
19/ 100|MCB 2P | 50/ 20 200 200|EPS (HUBHI &)
20| 200|MCB 3P | 50/ 20 285 285 570|%: 8 %6, ®
21| 200|MCB 3P | 50/ 20 298 298 B =D, > NS E
22| 200|MCB 3P | 50/ 20 298 298 596 % i = 1), @
23| 200|MCB 3P | 50/ 20 150 150 300|Z H#yL— 4
24| 100|MCB 2P | 50/ 20 1, 000 1,000
25| 100|MCB 2P | 50/ 20 1,000{ 1,000
26| 100|MCB 2P | 50/ 20 1, 000 1,000
27| 100|MCB 2P | 50/ 20 1,000{ 1,000
A AR R 2,827 4,895 1,031 2, 000 10, 753| FH B K B
Fas e S B g (VA)
(VA) T 2,827 5, 245 1,031 2,000] 11,103 11,103
A g/ EE(VA) 5654 10140 2062 4000 21,856
LR . 00 . 00 . 00 . 00 . 00 . 00 LR
A AR R 2,827 4, 895 1,031 2, 000 10, 753 BRAM| EEARHA
wHkit [ s {ra)
(VA) T 2,827 5, 245 1,031 2,000] 11,103 11,103
A E A (VA) 5654 10140 2062 4000 21,856
XM B O 11,103 = 100 = 111.0 A < g 150 AT 0K
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WEJERER-5

(Bt FREaTR |
A/ A i 5% T 2 B I E ) e BT (AR T

Do ol e 1-N4 R 13V 200 / 100V |
Sz (VA)
B [ 4y N R 1k FCU, FAN Z O fih b s & id A/ k=2 R
NO.| (V)| CB P AF /AT| R S T R S T R S i R S T R S i R S T i
1| 200|MCB 3P | 50/ 20 515 515 1, 030[ & =, & B f =<
2| 200|MCB 3P | 50/ 20 431 431 862 | F B} =, S Bl e i =
3| 200[MCB 3P | 50/ 20 431 431 862 | FRFL =8, FEL Y i =
4] 200|MCB 3P | 50/ 20 84 84 168 |1 Bl ¢ £ I
[ 5| 200|ELB 3P | 50/ 20 182 182 364[WC, % H fWC
6| 200|MCB 3P | 50/ 20 286 286 572| T
[ 7] 200|MCB 3P | 50/ 20 21 21 42|RBE  AE (N3), ShREST
8| 100|MCB 2P | 50/ 20 600 600|325
9| 100|MCB 2P | 50/ 20 200 20035 55 e ff ==
10| 100|MCB 2P | 50/ 20 400 400|282 B K Al
11| 100|ELB 2P | 50/ 20 1,280 1, 280|WC
12| 100|ELB 2P | 50/ 20 960 960[WC
13| 100|ELB 2P | 50/ 20 265 265[WC
14| 100|ELB 2P | 50/ 20 335 335[% H HIWC
15| 100|MCB 2P | 50/ 20 300 300[ i F
16| 100|MCB 2P | 50/ 20 200 200[EPS (HUBH &)
17| 100|MCB 2P | 50/ 20 100 100[REE £ i (N3)
18| 200|MCB 3P | 50/ 20 298 298 596| & R, FHERHE
19/ 200|MCB 3P | 50/ 20 337 337 674| PRI, 2F % H L — A
20| 100|MCB 2P | 50/ 20 1, 000 1,000
21| 100|MCB 2P | 50/ 20 1,000 1,000
22| 100|MCB 2P | 50/ 20 1,000 1,000
23| 100|MCB 2P | 50/ 20 1,000| 1,000 T4
A AR R 1,950 2,495 635 2,000 7, 080| ki ;K T B
Fas e S B g (VA)
(VA) T 1, 950 2,145 635 2,000 6,730 7, 080
A g/ EE(VA) 3900 4640 1270 4000 13,810
TR .00 . 00 . 00 .00 .00 .00 A
& AR R 1,950 2, 495 635 2, 000 7, 080 BRAR| BHAWA
wHki [ s {ra)
(VA) T 1,950 2,145 635 2,000( 6,730 7, 080
A E A (VA) 3900 4640 1270 4000 13,810
XM B O 7, 080 = 100 = 70.8 A < i 100 AT 0K

ENERBERECEARR HARGE




WEJERER- 6

DAY Y e |

e i o 2 9 U3 7 S (i )

[ 4w e 1-s1 e 1o3W 200/ 100V |
B (VA)
[l | Gy I JE g B EVAY FCU, FAN Z O fit B g & T 2 H A i FE R4 Gk
NO.| (V)| CB_ P _AF /AT| R S T R S T R S T R S T S R S T i
1 200|MCB 3P 50/ 20 533 533 1, 0661, (52), MEEFAE (H L), D=
2| 200|MCB 3P | 50/ 20 532 532 1, 064 | RS, fikes, IR =
3| 200[MCB 3P | 50/ 20 672 672 1 34| B v & —
4| 200|MCB 3P | 50/ 20 196 196 392 |FklZ, et B EE, B
5| 200|ELB 3P | 50/ 20 200 200 400|WC, % H KIWC
6] 200|MCB 3P | 50/ 20 235 235 470 |REUkE LB, SR D (), = 3SR
7] 200[MCB 3P | 50/ 20 189 189 378[ 5k 1 (k)
8| 200[MCB 3P | 50/ 20 504 504 1, 008|JHE (3, (78), Wk AR v 7= AT
9] 200[MCB 3P | 50/ 20 105 105 210 [ B () AT
10| 200|MCB 3P | 50/ 20 157 157 314| BB (V8) AT
11| 200|MCB 3P | 50/ 20 11 11 22|EPS AT
12| 200[ELB 3P | 50/ 20 95 95 190| 4} BE AT AT
13| 200[ELB 3P | 50/ 20 230 230 460|227 ¢ ¥
14| 100[MCB 2P | 50/ 20 600 600 | (S1), (52), ik H % B A= (% %) arkr b
15| 100[MCB 2P | 50/ 20 500 500| & #5% arkr b
16| 100[MCB 2P | 50/ 20 500 500 {5 arkr b
17| 100[MCB 2P | 50/ 20 400 400 itk 5 ark b
18| 100[MCB 2P | 50/ 20 1,000 1, 000[frs == =& b (DESK-AMP)
19| 100[MCB 2P | 50/ 20 300 300| R = ark b
20| 100|MCB 2P | 50/ 20 800 800\t v & — o b (0A)
21| 100|MCB 2P | 50/ 20 800 800| Kt v & — a2 b (0A)
22| 100|MCB 2P | 50/ 20 1,100 1, 100\ #HtE v & — 2t b (BEAD)
23| 100|MCB 2P | 50/ 20 100 100t v & — SN N 1))
24| 100|MCB 2P | 50/ 20 200 200\ v & — AMP
25| 100|MCB 2P | 50/ 20 250 250 # — ERS A
26| 100|MCB 2P | 50/ 20 400 P ETES a kb
27| 100|MCB 2P | 50/ 20 200 200 B EE arw b
28| 100|MCB 2P | 50/ 20 400 400 #5355 = ok b
29| 100|ELB 2P | 50/ 20 960 960|WC avk b
[ 30| 100[ELB 2P | 50/ 20 960 960|WC avk b
31| 100|ELB 2P | 50/ 20 260 260|WC avk b
[ 32| 100[ELB 2P | 50/ 20 435 435|% H #WC ok b
[ 33 100|McB 2P | 50/ 20 200 200| 5% 11 (dk) ayk b
34| 100|MCB 2P | 50/ 20 700 TO0|5-F& 1 (7) , i T, Wk v 7R oLk b
35| 100|MCB 2P | 50/ 20 300 300 |k Esks B, = S MRS, B oLk b
36| 100|MCB 2P | 50/ 20 200 200|EPS (HUBfH &) kb
37| 100|MCB 2P | 50/ 20 200 200|EV SNV
38 100[ELB 2P | 50/ 20 300 300|445 o kb
39 200|MCB 3P 50/ 20 139 139 QT8 &= (5 4), 2=, (R, Bk, By ggﬁ},ﬁ]%’g
40| 200[MCB 3P | 50/ 20 165 165 330 |testrr- sTA AN 1, FIBIE B RE, AT 72
41| 100[MCB 2P | 50/ 20 1, 000 1,000 i
42| 100[MCB 2P | 50/ 20 1,000 1, 000 T
43| 100[MCB 2P | 50/ 20 1, 000 1, 000 i
44| 100[MCB 2P | 50/ 20 1,000 1, 000 T
A AR R 3, 659 7,795 304 2, 000 13, 758|FH i K A A 3
b3 S S F i (VA) (VA)
(VA) T 3, 659 4,270 304 2,000] 10,233 13, 758 23,991
AN EE (VA 7318 12065 608 4000 23,991
LR . 00 . 00 . 00 . 00 . 00 . 00 Ee T
& AR R 3, 659 7,795 304 2, 000 13,758 BRAM| EEARARA
b3 S S (VA) (VA)
(VA) T 3, 659 4,270 304 2,000] 10,233 13, 758 23,991
A A (VA) 7318 12065 608 4000 23,991
X RN RO 13,758 =+ 100 = 137.6 A < s 150 AT 0K
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WEJERR-7

[Err= v e |

Al /I 2 A it 53¢ el R & i 2 AR B (BB R i L)
[ il i 1-s2 U EN 163W 200/ 100 V|
Bfiim  (VA)
[l | 43I HEWT AR RG] sty FCU, FAN Z D fih B2 s 203 T i A E/NE feE FH 0 2 44 ik
NO.| (V)| CB_P__AF /AT S T R S T R S T R S T R S T R S T fthy
1] 200|MCB 3P | 50/ 20 550 550 1, 100[%#HE@D, ®
[ 2| 200[MCB 3P | 50/ 20 567 567 1, 1343w HED, @
3| 200[MCB 3P | 50/ 20 567 567 1, 134)/0 NEEE ., Ll EQ
4| 200|MCB 3P | 50/ 20 396 396 792 | il # = @, DEN
5| 200[MCB 3P | 50/ 20 476 476 952|[X # 5
6| 200[ELB 3P | 50/ 20 224 224 448|WC, % H FHYWC
7] 200[MCB 3P | 50/ 20 709 709 1, 418|JE F, Hb =
11 11 22[EPS
8| 100|MCB 2P | 50/ 20 500 500| %8 =@
[ 9] 100[MCB 2P | 50/ 20 600 [ ESEENG)
10| 100|MCB 2P | 50/ 20 600 60017 i == (D
11| 100|MCB 2P | 50/ 20 600 600[¥% M HED
12| 100|MCB 2P | 50/ 20 600 600| N H =
13[ 100|MCB 2P | 50/ 20 600 600 | % i # R @
14[ 100|MCB 2P | 50/ 20 600 600 | % i = @
15| 100|MCB 2P | 50/ 20 700 700|[x # ==
16| 100|ELB 2P | 50/ 20 1,280 1, 280[WC
[ 17| 1o00[BLB 2P | 50/ 20 960 960|WC
18| 100|ELB 2P | 50/ 20 270 270|WC
19| 100|ELB 2P | 50/ 20 670 670|% H HIWC
20[ 100[MCB 2P | 50/ 20 700 T00|JEE T, DEN, #b4 ==, 2 |-
21| 100[MCB 2P | 50/ 20 200 200|EPS (HUBH &)
22 200[MCB 3P | 50/ 20 162 162 324|%# BEHEODOD, A HHY
23 200[MCB 3P | 50/ 20 220 220 440|155, B85, DEN
24| 100[MCB 2P | 50/ 20 1,000 1,000
25 100[MCB 2P | 50/ 20 1,000 1,000
26| 100[MCB 2P | 50/ 20 1,000 1,000
27 100[MCB 2P | 50/ 20 1,000 1,000
& AR R 3,500 4,550 382 2,000 10, 432| B K MR EA I
P S £ 4 (VA) (VA)
(VA) T 3,500 4,330 382 2,000] 10,212 10, 432 20, 644
B NER (VA) 7000 8880 764 4000 20, 644
TEER . 00 .00 .00 . 00 . 00 . 00 T
%48 R 3,500 4, 550 382 2,000 10, 432 RAM| FHEAMARG
PS4 S VA) (VA)
(VA) T 3, 500 4, 330 382 2,000] 10,212 10, 432 20, 644
7000 8880 764 4000 20, 644
MRS A RO - 10,432 =+ 100 = 104.3 A < 125 AT 0K
LNERBRETEIER EABRHE 1L p-rs
I




WEJERER-8

(=t L fHamE |

AN A it 5 R & i T A R B (FE ki L)

[z 40w e 1-s3 EE 1¢3% 200/ 100 V|
Sz m  (VA)
[E# | HEE Sy HE W E 1 B avty FCU, FAN Z Dt g Frd s Aa/Nat fi B4 ks
NO.| (V)| CB P AF /AT S T R S T R S T R S T R S i R S T s
1| 200|MCB 3P | 50/ 20 567 567 1, 134 @ HED, ®
2| 200|MCB 3P | 50/ 20 567 567 1, 134 @ #=EO, ©
3] 200|MCB 3P | 50/ 20 396 396 792| % i# # = @, DEN
4| 200[MCB 3P | 50/ 20 392 392 7842 H gL — 2 (EFEE#ER)
[ 5| 200[MCB 3P | 50/ 20 992 992 1, 984 KT
6| 200|ELB 3P | 50/ 20 224 224 448|We, % H fWe
r 7| 200[MCB 3P | 50/ 20 765 765 1, 530 [E T, %kt ==
11 11 22|EPS
8| 100|MCB 2P | 50/ 20 600 600 |4 il =D
9] 100|MCB 2P | 50/ 20 600 600 [ M H=EE®
10| 100[MCB 2P | 50/ 20 600 600[¥% W #H=EQ
11| 100[MCB 2P | 50/ 20 600 600 |34 iif # == @
12| 100[MCB 2P | 50/ 20 600 600 |4 if = @
13| 100[MCB 2P | 50/ 20 700 700(% H oL — & (EEEZR)
14| 100[ELB 2P | 50/ 20 1,280 1, 280|WC
15| 100|ELB 2P | 50/ 20 960 960[WC
16/ 100|ELB 2P | 50/ 20 270 270[wWcC
17| 100|ELB 2P | 50/ 20 670 670[% H W
18| 100|MCB 2P | 50/ 20 700 700|J#5 F, DEN, #bt 5=, B I
19/ 100|MCB 2P | 50/ 20 200 200[EPS (HUB/H %)
20| 100|ELB 2P | 50/ 20 100 100 RS D
21| 200|MCB 3P | 50/ 20 187 187 374 EHEOOOOW, [HEEHEE, DEN 72
22| 100|MCB 2P | 50/ 20 1, 000 1,000 iali
23| 100|MCB 2P | 50/ 20 1,000| 1,000 iai
24| 100|MCB 2P | 50/ 20 1, 000 1,000 ialli
25| 100|MCB 2P | 50/ 20 1,000| 1,000 il
% R 3,914 4, 150 187 2, 000 10, 251 |FA K AnA AR
A S g (VA) (VA)
(VA) T 3,914 3, 730 187 2,000[ 9,831 10,251 20, 082
A g/ EE(VA) 7828 7880 374 4000 20, 082
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4] 100|MCB 2P | 50/ 20 200 HL3 arw b
5| 100|MCB 2P | 50/ 20 200 Hl4 arkL b
6] 100|MCB 2P | 50/ 20 200 HL5 arkL b
7] 100|MCB 2P | 50/ 20 200 HL6 arwr b
8| 100|MCB 2P | 50/ 20 200 HL7 arkL b
9] 100|MCB 2P | 50/ 20 200 HL8 oLk b
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[ 12| 100|McB 2P | 50/ 20 200 = ok b
13| 100|MCB 2P | 50/ 20 1, 000 T fif
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(KW) (KVA) (KVA) () (KW) | 3P AF/AT 2 A = A 2 A 2 A
P1  |P-N1-1 13. 60 27.02 78.0 100AT 27.0 27.0
P2 |P-N1-2 12.32 24.42 70.5 100AT 24.4 24.4
P3  |P-N2 15. 30 33.26 96. 0 125AT 33.3 33.3
P4 |P-N3 21.90 43.65|  126.0 150AT 43.7 43.7
P5  |P-N4 21.30 43.65|  126.0 150AT 43.7 43.7
P6  |P-S1 16. 90 33.26 96. 0 125AT 33.3 33.3
P7  |P-S2 24. 10 49.88|  144.0 175AT 49.9 49.9
P8 |P-S3 16. 90 33.26 96. 0 125AT 33.3 33.3
P9 |P-W 8.44 17.32 50. 0 T5AT 17.3 17.3
P10 |P-1 4.50 7.22 20.9 60AT 3.0 3.0 4.2 4.2
P11 |P-2 7.50 11. 80 34.0 125AT 11.8 11.8
P12 |P-EV (db#i4) 6. 80 8. 04 23.2 50AT 8.0 8.0
P13 |P-EV (FE#E4) 6. 80 8. 04 23.2 50AT 8.0 8.0
P14 |SP-1 15. 00 22. 20 64.0 100AT 22.2 22. 2
il 191.4 363. 0 19.0 19.0 305.9 305.9 26. 4 26. 4 11.8 11.8
EEIHE 4+ — BT KW 363. 0 D. f * D. f * D. f * D. f * D. f * D.f | D.f | D. f *
=Rt Gt (Kva) 363. 1 1.00| 19.0| 3k * 0.94| 287.5| % * 0.21 5.5 % * 1.00| 11.8] = *
2B fif & &k (KVA) 363. 1 * % 1.00] 19.0] 3k % 0.94| 287.5] % * 0.21 5.5] * 1.00| 11.8
[ rommrass | | HMBEEAR AR (KVA) 323.8 (Fo=r) FERRIER AN A EE L, EESERDS%RE LTS
SFEHIE UCRRE L2V, e 22 3M4% - 161. 8KVA (200KVA / 80.9%)
AMFTEEAM G (KVA) 323. 8 Z DA, : 163. 0KVA (200KVA / 81.5%)
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(s K&t
225 (A E) 13. 60 78.0 27.02 L00AT 1 27.0 1 27.0
BN R R B (KW
Fil 13.6 78.0 27.0 27.0 27.0
. Ttk AEED
B+ T (KW 13.6
(KW) 13.6
A At (KVA) 27.0 78.0
(KW) 13.6
2 A fif &k KVA) 27.0 78.0
FEMRA R | [BREkD A 78.0 |
(A)= BENVEE 1. 1+— R AMER ; (AL, BB AS0ALL T OS&1E, EEEERE*1.25L 72
() 1. LSO, MCBI=1:MCB2=2:MCB3=3: V[CB/l(Y AN)=4:VI-=VE AT 5.
2. 1&01%, EMoZ0HRE (EH=1:4H=0) ; £HoHo5E (EH=0:4M=1) ; ZH, KOLHOBRE GIH=1:48=1) 2L AT 5.
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. Ttk AEHED
HEIRE  + — AT (KW) 12.3
(KW) 12.3
AT At (KvA) 24. 4 70.5
(KW) 12.3
2 B fif Ak Kva) 24.4 70.5
FEMRA R | [BEREkDAE | 705 |
(A)= BENVEE 1. 1+— R AMER ; (AL, BB AS0ALL T Og &%, EEEERE*1.25L 75
() 1. LSO, MCBI=1:MCB2=2:MCB3=3: V[CB/l(Y AN)=4:VI-=VEFRAT 5.
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(KW) @)\ /n (KVA) i(a) (KVA) 3P | AF/AT |1&0| EHi |1&0| A1 [1&0| HHi [1&0| 4H) [1&0| HH#] [1&0] AW |1&0] HH |1&0| %M
(s K&t
225 (A E) 15.30 96.0 33.26 125AT 1 33.3] 1 33.3
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A At (KVA) 33.3 96.0
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2 A fif &k KVA) 33.3 96.0
FEMRA R | [BREkD A | 96.0 |
(A)= BENVEE 1. 1+— R AMER ; (AL, BB AS0ALL T OS&1E, EEEERE*1.25L 72
() 1. LSO, MCBI=1:MCB2=2:MCB3=3: V[CB/l(Y AN)=4:VI-=VE AT 5.
2. 1&01%, EMoZ0HRE (EH=1:4H=0) ; £HoHo5E (EH=0:4M=1) ; ZH, KOLHOBRE GIH=1:48=1) 2L AT 5.
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(s K&t
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(A)= BENVEE 1. 1+— R AMER ; (AL, BB AS0ALL T OS&1E, EEEERE*1.25L 72
() 1. LSO, MCBI=1:MCB2=2:MCB3=3: wcm(y AN)=4:VI-=VE AT 5.
2. 1&01%, EMoZ0HRE (EH=1:4H=0) ; £HoHo5E (EH=0:4M=1) ; ZH, KOLHOBRE GIH=1:48=1) 2L AT 5.
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225 (A E) 21.30 126.0 43.65 150AT 1 43.7| 1 43.7
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2 A fif &k KVA) 43.7 126.0
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(e K& i)
225 (A %) 16. 90 96. 0 33.26 125AT 1 33.3] 1 33.3

IS R B A (KW)
ik 16.9 96.0 33.3 33.3 33.3
T Rk (KW)

EENE +—ﬁ>%ié1%r‘ (KW) 16.9
(KW) 16.9

S A At (KvA) 33.3 96. 0
(KW) 16.9

A A it & ak (KVA) 33.3 96.0

[ | [BAEkDO A | 96.0 |
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ke B 4 FR A i /cos ¢ | AfF |fwdEW| A= | C/B- | C/B- Pa_(KVA) Pb_(KVA) Pc_(KVA) (KVA)
(KW) W\ /n (KVA) i) (KVA) 3P | AF/AT [1&0| E#1 |1&0| &1 |1&0| =1 [1e0] %1 [1&0] FHI |1&0| &1 [1&0| EHH [1&0| &
(A =% —
AN )
KA T 3.00 12.2 4.22 50AT 1 4.2| 1 4.2
CRA B
/N4 - B 1.50 8.7 3. 00 30AT| 1 3.0 1 3.0
EEHE R B R (KW)
i 4.5 20.9 7.2 3.0 3.0 4.2 4.2
. Ttk & Ek KW
B +—ﬁ&ﬁ«ﬁ(KW) 4.5
(KW) 4.5
A ff &t (KVA) 7.2 20.9
(KW) 4.5
4 B ot &t (Kva) 7.2 20.9
I | [ExEmoat ] 209 |
(A)= EEVEE L. 1+— A MER ; AL, EEEEIAB0ALL FOGAE X, EEEERE*1.25L 35,
(JE) 1. ZEEOMIE, MCB1=1:MCB2=2:MCB3=3: MCB4(Y A) =4 V-V EFTAT 5.
2. 1&01%, EMioAogEe (El=1:41=0) ; Ao A0GE (E#=0:48=1) ; ZH, KROLHOHE (EH=1:4H=1) 2T AT .
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1. EXERIFHEHE
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1-3. B ERImETEIX
BEAhaRER-12
A RfHANE  (200V)
Al IN A e T % B A 1R DR B (B R %)
i AZNO P2 B ENO. P11 [Bahx 3o [ 200 V|
A I EEFE 1 —fik | kA |AfTARH BRI | RAN B . TN - IRy b — DTS S i BIRR D
Gk B 4 FR A i Jcosd | Afi |WEW| A& [ C/B- | C/B- Pa_(KVA) Pb_(KVA) Pc_(KVA) (KVA)
(KW) W| /n KV | i@ (KVA) 3P | AF/AT [1&0| E#1 |1&0| &1 |1&0| =1 [1e0] %1 [1&0] FHI |1&0| &1 [1&0| EHH [1&0| &
LA B #5)
WAKRT 7.50 34.0 11.80 125AT 1 11. 1 11.8
BN IR R B (KW)
i 7.5 34.0 11.8 11.8 11.8
. Ttk & Ek KW
E R +—ﬁ&‘ﬁ?ﬁ(KW) 7.5
(KW) 7.5
A fr &t (KVA) 11.8 34.0
(KW) 7.5
4 M B ot &t (KvA) 11.8 34.0
I | [ExEmoat] 340 |
(A) = EEVEE L. 1+— B M ER ; AL, EEEEIAB0ALL FORAE T, EEEERA*1.25L 35,
(FE) 1. FEEOMMIE, MCB1=1:MCB2=2:MCB3=3: MCB4(Y A)=4:VAI-=VE AT 5.
2. 1&01%, EMioAogs (El=1:41=0) ; Ao L0GE (E=0:48=1) ; ZH, KOLHOHE (EH=1:4H=1) 2T AT .
LNERBRETEIER EABRHE I
I




1. EXERIFHEHE
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1-3. B ERImETEIX
BEAheRER-13
A RfHANE  (200V)
b/ S it i O % B 1 E o B 3 (R i T )
HAEAZNO P-EV EREINO. [P12,13 [B5hs 303w [ 200 V]
A i I R 1 —fik | kA |AfTARH BRI | RAN B . TN - IRy b — DTS S i R D
Gk B 4 FR A i Jcosd | Afi |WEW| A& [ C/B- | C/B- Pa_(KVA) Pb_(KVA) Pc_(KVA) (KVA)
(KW) W| /n (KVA) i(A) (KVA) 3P | AF/AT [1&0| E#1 |1&0| &1 |1&0| =1 [1e0] %1 [1&0] FHI |1&0| &1 [1&0| EHH [1&0| &
(A =5 — —
AN )
ELV |E L VI 6. 80 23.2 8. 04 1 8.0 1 8.0
I IR R B (KW)
it 6.8 23.2 8.0 8.0 8.0
. Ttk & E KW
R +—ﬁ’x‘ﬁ?ﬁ(KW> 6.8
(KW) 6.8
A fr &t (KVA) 8.0 23.2
(KW) 6.8
4B ot &t Kva) 8.0 23.2
I | [ErEdoaad [ 23.2 |
(A)= EEVEE L. 1+— A MER ; AL, EEEEIAB0ALL FORA T, EEEERA*1. 25835,
() 1. FEOMIE, MCB1=1:MCB2=2:MCB3=3: MCB4(Y A)=4:VAI-=VE AT 5.
2. 1&01%, EMioAogse (El=1:41=0) ; Ao L0GE (E#=0:48=1) ; ZH, KOLHOHE (EH=1:4H=1) 2T AT .

ENERBRETCEZE

ft EZKDXD =

H| D-32




1. EXERIFHEHE
3.

1-3. B ERImETEIX
BEAhERER-14
A RfHANE  (200V)
Al IN A e T % B A 1R DR B (B R %)
i AZNO SP-1 B ENO. P14 [Bahx 3o [ 200 V|
A i I R 1 —fik | kA |AfTARH BRI | RAN B . TN - PRy b — DTS i BIRR D
Gk B 4 FR A i Jcosd | Afi |WEW| A& [ C/B- | C/B- Pa_(KVA) Pb_(KVA) Pc_(KVA) (KVA)
(KW) W| /n KV | i@ (KVA) 3P | AF/AT [1&0| E#1 |1&0| &1 |1&0| =1 [1e0] %1 [1&0] FHI |1&0| &1 [1&0| EHH [1&0| &
LA B #5)
779 R
ATV F— 15. 00 64. 0 22. 20 100AT 1 2220 1] 22.2
I IR R B (KW)
i 15.0 64. 0 22.2 22.2 22.2
. Ttk & Ek KW
A E +—ﬁ"x‘ﬁ?ﬁ(l&w) 15.0
(KW) 15.0
A fr &t (KVA) 22.2 64. 0
(KW) 15.0
4 B ot &t (Kva) 22.2 64. 0
I | [ExEmoat] 640 |
(A) = BEVEE L. 1+— A MER ; AL, EEEEIAB0ALL FORA L, EEEERA*1. 25835,
(JE) 1. FEEOMMIE, MCB1=1:MCB2=2:MCB3=3: MCB4(Y A)=4:VAI-=VE AT 5.
2. 1&01%, EMiosogse (El=1:41=0) ; Ao A0GE (EH=0:48=1) ; ZH, KOLHOHE (EH=1:4H=1) 2T AT .
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